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Seven Boxes M, N, O, P, Q, R and S are placeml

ArafEssm, N, 0, P, Q, R 31X s I TTd 3eT-

amamhﬁﬁw%w$wmw
74T g fob Had i aTel Ao B U e feu
T3, T & SHUR dTdl &1 2 3R 331 X8 Had
SUR aTe Aot D hHifbd fBAT TR 7.

TS ST SRT-SeT 11 H 8 & o1, Hibg,
YR, AT, e, Tl 3R BTl R, S

TTHE, & HW G4 MU S T e 5
ST QP AR AB AT TG sHRM P
e IR S v e B, St A T H B | SieRi v
1 R & T fayH HEI aTel et § 3@ TAT B |
AR 1 HT M A1t T P d16] b 31D KUY
TG TT ¢ | ST 0 ATl T H g SR AT s &
SHUR G 1 ¢ | Aibe, T b 91 b HU3 T
TSI 1 H-AT YR T b iR b e 7 Y
died B SR A TP HH | e N, fEsarp &
SHUR M T ¢ | YX T 51 S, BTt T

5&2:00 .

seven different shelves one above another such
that the bottommost shelf is numbered one, the
one above one is numbered 2 and so on till the
top most shelf is numbered 7. Each box is iIn
different in colours viz., Red, White, Brown,
Orange, Blue, Pink and Black. Not more than
two Boxes are placed above R, which is in Black
colour. The Box Q is placed in 3" shelf. Four
Boxes are placed between S and M, which is in
Blue colour. The box M is placed in odd
numbered shelf below R. Orange coloured box is
placed just above the Blue coloured box. The box
O is in red colour and placed above the box S.
Number of boxes placed above the White
coloured box is one less than that of number of
boxes placed below the Brown coloured colour
box. The Box N is placed above the box P. The
Brown coloured box does not placed
iImmediately above the Black coloured box.
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Seven Boxes M, N, O, P, Q, R and S are placed In
seven different shelves one above another such
that the bottommost shelf is numbered one, the
one above one is numbered 2 and so on till the
top most shelf is numbered 7. Each box is iIn
different in colours viz., Red, White, Brown,
Orange, Blue, Pink and Black. Not more than
two Boxes are placed above R, which is in Black
colour. The Box Q is placed in 3" shelf. Four
Boxes are placed between S and M, which is in
Blue colour. The box M is placed in odd
numbered shelf below R. Orange coloured box is
placed just above the Blue coloured box. The box
O is in red colour and placed above the box S.
Number of boxes placed above the White
coloured box is one less than that of number of
boxes placed below the Brown coloured colour
box. The Box N is placed above the box P. The
Brown coloured box does not placed
iImmediately above the Black coloured box.
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73) Which of the following boxes is placed in 71) Which of the following box is placed in shelf
7" shelf and what is the colour of that box? number 2?
frafefad d 3 oI 91 9feq 91ad Aew o frafafad & Q o149 31 aie Ao Hav 2 W @0
G 7T R 3R I 919 BT 30 /1 82 T 82
a) M, Black a)M
b)S, Pink b)N
c)O, Red c)O
d)R, Brown d)P
e)None of these e)None of these
72) The color of Box N is ?
ERIN BT 2
a)Red
b)Pink
c)Black
d)Brown

e)None of these
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m Boxes Colour

e [ s [whne
ERERES

o
ENEETS

74) Which of the following statement(s) is/are true? A | 4
)The box N is in Pink colour

11)The White coloured box is placed above the Red coloured box
111)The box P is placed just below the box M

a)Only |

b)Only I and Il

c)Only Il and 11

d)Only II

e)None of the statement is correct

75) Four of the five among the following are similar in such a way
to form a group. Which one of the following doesn’t belongs to the
group? FArafeIfad g # 9 IR & 99 91 & forw 99= 7
mﬁﬁaﬁqwﬁwﬁaqﬁév

a)O

b)R

C)S

d)Q

e)M
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Yot F is 8m to the east of point D and 12 m to the south of point G. Point G is 4m to |

west of point K. Point O is 6m to the south of point K. Point O is 12m to the east of point R.
point T i%lom to the north of point R. ﬁ%ﬁ ﬁg D& t@‘ﬁ g Hiex 3fiv ﬁg € %EfEI'UT.ﬁ
12 HieX B

fag s uffm a4 diev e k. fdg o, & 6HI Hglfdgo,
R 124 qd %Glggtﬁgagﬁﬁoﬁw}(ﬁggomr( R alarm 71 g o, g
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78) Find the odd one out 76) What is the shortest distance between
a)CEG the point F and K?

b)FHJ a) 4 V10m

c)JLN b) 5V 6m

d)RSU ¢) 5V10m

e)DFH d)160m

e)None of these

77) Point R is in which direction with
respect to point K?

a)North west
b)South
c)South west
d)North east
e)None of these
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41) Statements:
All Al are A2
Some A3 are not A2 All A2

are A4

Conclusions:
AIl A4 being A2 is a possibility
[)No A2 being A3 is a possibility
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42) Statements:

Some NH1 is a NH2

Some NH2 are not NH3

All NH3 are NH4

Conclusions:

l)Some NH1 being NH3 is a possibility
[1)All NH3 being NH4 is a possibility
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43) Statements:

All one are two
Some two are three
No three iIs a four

Conclusions:

I)All one are three

I1)No two being four is a
possibility
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44) Statements:

All set are pair

Some pair are couple
Some couple are single
Conclusions:

1)All single are pair
[1)Some single are not pair
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45) Statements:

Some student are teacher
No teacher are principal

All principal are watchman
Conclusions:

I)Some student are principal

[1)All teacher being watchman is a
possibility.
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anaam% A1, B1, C1, D2, A2, B2, C3 3f¥ D4 TP ga¥
P HW T T L | TAD ST & SIeTT- 3T
tﬁ?ﬁ%%l HTC, Apple, Samsung, Microsoft, Lenovo,
Sony, Vivo 3R Micromax T-Iﬁg?ﬁﬁ ﬁ
gl 1c3 & HUR aTd Ta] & U ISP A1 arel Ja ]
&) Y- 4 TH HH 3| A-1a1 3R Hi] & i< pae &l
19T @ MY 8| Lenovo ATAT ST AT dl €3 & Sl
SU T 31 19 3@ AT 3 | SHIT aTeT iy A-1al

aTeT STy W HURT T U 761 3WT 7471 8 | HHHT
& 1Y 9[qH P HUX T T SR Bl F-AT Microsoft
& S & HId T T 919 H1 HLIT S A g D2
3R pa & T 9 97T &; 97T D2 § AHIT AT 2
aﬁvsﬁmmquﬁwwélﬁwm
@ D4 & HUR TET AT 3| 9199 A1 H Apple § 3M¥

B2 b Slh HUR W AT | 1 Ty #

3MY 3 AL ST6T & SR [HHt T R TR 3@ T
%laﬁa‘rmﬁmaﬁma‘rwﬁﬁaﬁmmm
YT U QT T & | 19T A2 Bl 919 €3 B U
WWWWWW%IWBlﬁH?ﬁﬁTﬁ%

3R T & AT
=00

-

There are eight boxes namely- Al, B1, C1, D2, A2, B2, C3 and D4 are
placed one above another. Each box contains different mobile phones viz.
HTC, Apple, Samsung, Microsoft, Lenovo, Sony, Vivo and Micromax but

not necessarily in same order. The number of boxes above C3 is one
less than the number of boxes below it. There are only two boxes
placed between Lenovo and Sony. The box with Lenovo is placed
either immediately above or immediately below C3. The box with
Samsung Is placed at one of the positions above the box with
Lenovo. The box with Samsung is not placed at the topmost
position. Number of boxes placed above the box with Samsung is
as same the number of boxes placed below the box with
Microsoft. There are three boxes between D2 and D4, the box D2
doesn’t have Samsung and is not placed at the topmost position.
The box D2 is placed above D4. The box Al contains Apple and is
placed immediately above B2. The C1 box contains Micromax
and is placed at one of the positions above Al box. The box with
Vivo is placed at either lowermost or topmost position. The box
A2 is placed at one of the positions above the box C3. The box Bl
contains neither Lenovo nor Samsung.
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There are eight boxes namely- Al, Bl1, C1, D2, A2, B2,
C3 and D4 are placed one above another. Each box contains
different mobile phones viz. HTC, Apple, Samsung,
Microsoft, Lenovo, Sony, Vivo and Micromax but not
necessarily in same order. The number of boxes above C3 is
one less than the number of boxes below it. There are only
two boxes placed between Lenovo and Sony. The box with
Lenovo is placed either immediately above or immediately
below C3. The box with Samsung is placed at one of the
positions above the box with Lenovo. The box with Samsung
Is not placed at the topmost position. Number of boxes placed
above the box with Samsung is as same the number of boxes
placed below the box with Microsoft. There are three boxes
between D2 and D4; the box D2 doesn’t have Samsung and is
not placed at the topmost position. The box D2 is placed
above D4. The box Al contains Apple and is placed
immediately above B2. The C1 box contains Micromax and is
placed at one of the positions above Al box. The box with
Vivo is placed at either lowermost or topmost position. The
box A2 is placed at one of the positions above the box C3.
The box B1 contains neither Lenovo nor Samsung.
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48) Which of the following box is placed fourth

from the bottom?mﬁﬁﬁqu
EIER IR SR EEEGI K] A

a)Box D2

b)Box B2

c)The box with Apple mobiles
d)The box with Sony mobiles
e)None of these

o | woliles _

46) Which of the following box has Vivo mobiles? e
fFrafafead § A foa afe & dial Aiarsd 82

a)Box C3

b)Box B1

c)Box B2

d)Box D4

e)Box A2

47) How many boxes are there between the boxes
which has Microsoft and Micromax? ¥&1 & o9 |
mﬁj\q 9

a)One

b)Two

c)Three

d)More than three

e)None
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mm 49) What is the position of the box which has Sony mobiles?

G-t & HiaTSd arel ST BT TATH H1 82
AD Samsung a)Second from the bottom

-_ b)Third from the top

c)Fourth from the bottom

d)Third from the bottom

Apple e)Immediate below C3

50) If the Box C1 is related to Lenovo; Box Al is related to

: Microsoft in a certain way. Then which of the following mobile
does C3 is related to? gfe dTaT C1 @Gl ¥ HdfUd g; diad
Ul Uh W dig 9§ AEHNUE A ddfid g1 o C3
frafafad A Q f5a Aasa A &k g2

a)Sony

b)HTC

c)Micromax

d)Vivo

e)Microsoft
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51) Statements:

Q<D<B>M=N:Y>J=V>H:C>Z>V>D

Conclusions:

1.J>Q
II.LM>C
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52) Statements:

Y>T>R>E>Q; W H<G>E=W<C<X<Z

Conclusions:
IW<G
1HG=Ww
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Gn?i?:qf%r&r%lﬁr P,L,M,O,K,N,I3]
mﬁﬁw%aﬁaﬁv CRE I [] u%ala
Waﬁmmwm%mﬁm
3TN, HaRT, T, 3R, amwawﬁaﬁv
et Tah eﬁao-rwé’rw Kkl
ATIID

There are eight people namely — P, L, M, O, K, N,
and J sitting in a circular table facing towards the
centre. Each likes different fruits viz. Mango,
Pineapple, Orange, Banana, Grapes, Guava,
Watermelon and Kiwi. All the information is not
necessary to be in the same order.

Only one person sits between J and P. P sits third to

the right of one who likes Orange. The person who
likes Guava is an immediate neighbour of neither P
nor J. Only two persons sit between the one who likes
Guava and I, who likes Grapes. L likes Kiwi and sits to
the immediate left of K. K sits to the immediate left of
N, who likes Orange.M likes Pineapple and faces
opposite to the one who likes Watermelon. The person
who likes Mango sits to the immediate right of I. The
person who likes Banana is not an immediate
neighbour of the one who likes Pineapple.
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There are eight people namely—-P, L, M, O, K, N, l and J
sitting in a circular table facing towards the centre. Each
likes different fruits viz. Mango, Pineapple, Orange,
Banana, Grapes, Guava, Watermelon and Kiwi. All the
iInformation is not necessary to be in the same order.

Only one person sits between J and P. P sits third to the

right of one who likes Orange. The person who likes Guava
IS an immediate neighbour of neither P nor J. Only two
persons sit between the one who likes Guava and I, who
likes Grapes. L likes Kiwi and sits to the immediate left of
K. K sits to the immediate left of N, who likes Orange.M
likes Pineapple and faces opposite to the one who likes
Watermelon. The person who likes Mango sits to the
iImmediate right of I. The person who likes Banana is not an
Immediate neighbour of the one wholikes Pineapple.
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58) Who among the following likes Guava? 56) Who sits to the immediate right of P?
fFrafafed 9 3 fed siee ueig 82 P%Bﬁ?ﬁaﬁﬁqaﬁr%?

a)M a)The one who likes Watermelon

b)J b)O

C)K c)L

d)P d)The one who likes Mango

e)L e)None of these

57) How many persons are sitting between M and L,
M when counted from L in anticlockwise direction?

L @ qrrad fomn § fFR W™ M ok L & 94 et
fd 98 27

a)One

b)Three

c)More than three

d)Two

e)None

Watermelon

Banana
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59) Which of the following statement is true? fraferfad
H Y S AT HYT I 82

a)N sits to the immediate left of K

b)P and J face each other

c) The one who likes Kiwi sits second to the right of P
d)None is true

e)All are true

Watermelon

60) Which of the following fruit does O like?
fraferfad # | #1991 wd 0 ) u¥g 82
a)Kiwi

b)Orange

c)Banana

d)Grapes

e)Pineapple
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1)If the first digit is an even number and the last digit is an odd number, then their codes are
to be interchanged.
1) 1If the first digit is an odd number and the last digit is an even number then codes of second
and fourth digits are to be interchanged.
1) If both the first and the last digits are an even
number, then both are to be coded as the code for the first digit.
IvV)If both the first and the last digits are an odd number, then both are to be coded as the last
digit.

61) What is the code for “17069”7?

a)A*H%B

b)B*H%A

c)B*H%B

d)A%H*B

e)None of these
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1)If the first digit is an even number and the last digit is an odd number, then their codes are to be
Interchanged.

1) If the first digit is an odd number and the last digit is an even number then codes of second and
fourth digits are to be interchanged.

1) If both the first and the last digits are an even
number, then both are to be coded as the code for the first digit.

IV)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

62) What is the code for «14074”7
a) Yo# W

b)##H*A

C)A#H*#

d)A*H##

e)None of these


http://www.mahendras.org/

SBlI CLERK 2022 / /mmat 11:30 AM/ “
oigs  Ja s |> o fsfsfefefo|s

evterssymbol | |v |1 o [~ |a o looln [~

1)If the first digit is an even number and the last digit is an odd number, then their codes are to be
Interchanged.

1) If the first digit is an odd number and the last digit is an even number then codes of second and
fourth digits are to be interchanged.

1) If both the first and the last digits are an even
number, then both are to be coded as the code for the first digit.

IV)If both the first and the last digits are an odd number, then both are to be coded as the last digit.

63) What is the code for «“20606”7?
a)%!'HH%

b)!H%H%

c)!HY%H!

d)!'%H%H

e)None of these
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1)If the first digit is an even number and the last digit is an odd number, then their codes are to be
Interchanged.
1) 1f the first digit is an odd number and the last digit is an even number then codes of second and
fourth digits are to be interchanged.
1) If both the first and the last digits are an even
number, then both are to be coded as the code for the first digit.
Iv)If both the first and the last digits are an odd number, then both are to be coded as the last
digit.

64) What is the code for “25681”?

a)A&V%!

D) V%&A

C)AV% &!

d)AVY%&A

e)None of these
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There are eight students viz. A, S, D, Q, W, E, R and T
are sitting in a straight line. Some of them were facing
north and rest faces south direction. All of them were a
student of different grades from schoolings to college.
They were sitting in such a way that their grades were
In increasing order from left to right end of the
straight line. No two student studies Iin the same
grades.Note: Their Grades were ranging from 1 to 9,
B.E,M.E and Ph.D. Where Ph. D is the highest grade
and 1 is the lowest grade.

The students sitting at the extreme ends of the line face
North direction. R and E are immediate neighbours
and both faces opposite directions. W belongs to 9"
grade and faces the same direction of A, who belongs
to 4" grade. Only three student sits between A and D;
both faces same direction. Neither A nor D sits at the
extreme ends of the line. S belongs to 7" grade and sits
second to the right of W. Q and T faces same direction.
E has done PhD. There is a B.E and M.E graduates
who sits next to each other. Number of students sitting
to the left of S is one year less than the grade of Q.
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There are eight students viz. A, S, D, Q, W, E, Rand T are
sitting in a straight line. Some of them were facing north and
rest faces south direction. All of them were a student of
different grades from schoolings to college. They were sitting
in such a way that their grades were in increasing order from
left to right end of the straight line. No two student studies in
the same grades.

Note: Their Grades were ranging from 1 to 9, B.E,

M.E and Ph.D. Where Ph. D is the highest grade and 1 is the
lowest grade.

The students sitting at the extreme ends of the line face
North direction. R and E are immediate neighbours and both
faces opposite directions. W belongs to 9™ grade and faces
the same direction of A, who belongs to 4" grade. Only three
student sits between A and D; both faces same direction.
Neither A nor D sits at the extreme ends of the line. S belongs
to 7" grade and sits second to the right of W. Q and T faces
same direction. E has done PhD. There is a B.E and M.E
graduates who sits next to each other. Number of students
sitting to the left of S is one year less than the grade of Q.
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